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1 —fF—H 201y 2 3 5 3500
2 R e —H HEOM 1 3 1 5 3500
3 —fET—H ZORE 4 7 1 12 8400
4 FAEIUH O 2 1 2 3 2 10 7000
5 HTE=H ZOHH 1 10 16 4 31 21700
6 PaA= L =H FROH 1 5 9 3 1 5 1 25 17500
7 MiE =2, BOH 8 11 15 1 6 1 42 29400
8 PUiE = ZOrk 12 12 15 5 44 30800
9 PU{RHI = Eﬁ FROZ 3 16 13 3 1 36 25200
10 MUyt = BROAE 5 24 1 30 21000
11 uspioe- 1t BROME 2 1 1 4 2800
12 T4 = H BEORE 1 5 1 7 4900
13 Y24 rY BORE 1 3 1 5 3500
14 PaApR = RO 1 4 18 5 28 19600
15 sy S B0 1 4 11 3 2 2 23 16100
16 PORREIY Z, O 2 2 1400
17 PO ERHRFIY 2, O 2 8 5 1 16 11200
18 P =5 tHOZE 0 0

19 PUfiEE Y FOMH 7 7 4900
20 TRt =2 O/ 1 3 8 1 13 9100
21 ISR JUSES RO 17 4 21 14700
22 PURF < =H ZOF 3 18 5 1 4 31 21700
23 PRt = Z04 6 15 6 1 28 19600
24 TR 2 =OE 2 4 1 2 9 6300
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25 PUEEETIU 2 BROBL 4 7 4 15 10500
26 PUE T =H RO 26 4 38 26600
27 UE TNz O 1 1 700
28 & T2 HEOR 1 3 5 1 1 1 12 8400
29 PUEE U O 1 9 1 11 7700
30 MU= 8O 3 24 3 2 32 22400
31 PR — O 3 20 8 1 1 2 35 24500
32 TUREE =2 HEOHE 2 10 1 1 14 9800
33 PO % R e — F mO% 1 3 18 11 33 23100
34 TUfESN =2, ZIOF 3 9 3 1 2 2 20 14000
35 TUfESN = BOZE 1 13 17 3] 21700
36 U 7 & PO B0 1 1 700
37 R _fif—H FROZ 12 8 2 22 15400
38 RV 254 — H BOHE 2 4 6 4200
39 R VU L dig 'O O 1 6 7 4900
40 R PO < PO EH FEO 0 0
41 R IUE% =3 O 4 11 3 1 19 13300
42 RVUERL =18 O 3 1 4 2800
43 R UUEE % = T OF 1 1 1 3 2100
o RIOEE =3 gh OB 2 2 4 2800
45 RO EEFEIUE =@t 5 5 3500
46 RO EE R — 18 ZOfE 1 20 5 26 18200
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